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g Al 657,790,250 43,355,600 8,748,330 605,686,320
KAl 401,766,410 40,315,940 6,223,420 355,227,050
INRE 401,766,410 40,315,940 6,223,420 355,227,050
2EAl 151,950,410 10,766, 160 2,863,290 138,320,960
QLA 337,610 73,790 263,820
i &k Al 11,063,640 10,486,910 431,510 145,220
A S XAl 53,716,720 279,250 27,750 53,409,720
& U 2~ Bl Al 1,570 1,570
AgLSAH 86,830,870 2,330,240 84,500,630
At e 249,816,000 29,549,780 3,360, 130 216,906,090
At e 249,816,000 29,549,780 3,360, 130 216,906,090
M2l =g 90,503,840 3,039,660 2,524,910 84,939,270
ER-Eep ot 5,998,200 7,640 1,811,140 4,179,420
TH o O =& 292,720 72,880 219,840
IEHASUHR 72,880 72,880
SEHASUHR 219,840 219,840
ANEEY 3,319,270 2,140 3,317,130
SIEALE 2 2,140 2,140
ANEAEZ 2,341,530 2,341,530
JEAIE = 975,600 975,600
e 2,290,550 1,738,260 552,290
SA+¢ 76,100 76,100
JEt==2 2,214,450 1,738,260 476,190
A= 5,500 5,500
SIEYNE= R 5,500 5,500
Ol K=& 90,160 90,160
JIEHOI Kp =& 90, 160 90,160
SAFAM L 84,505,640 3,032,020 713,770 80,759,850
THAHOH 2 =& 600,000 600,000
SEHAM2== 600,000 600,000
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JIEF==E 12,027,950 1,200,810 435,780 10,391,360
JEHE 3,068,200 640,000 415,000 2,013,200
0= 8,959,750 560,810 20,780 8,378,160
NeAE 71,877,690 1,831,210 277,990 69,768,490
KA e 71,877,690 1,831,210 277,990 69,768,490
2X3 165,520,000 165,520,000
=21E8xX3S 63,599,000 63,599,000
=083 63,599,000 63,599,000
= 61,991,000 61,991,000
=2 1,608,000 1,608,000
AN-EHIEXSSE 101,921,000 101,921,000
AN - ZHEXZS 101,921,000 101,921,000
AN-ZHEXSES 101,921,000 101,921,000




